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Q.1

Ans

Comprehension:

Read the passages given below and answer the NEXT FIVE questions that follow.

Globalization. liberalization and free marker are some of the most significant modern trends in
an economy. Most economists in our country seem captivated by the spell of the free market.
Consequently. nothing seems good or normal that does not accord with the requirements of the
free market. A price that is determined by the seller or for that matter. established by anyone
other than the aggregate of consumers seems pernicious.

Accordingly. it requires a major act of will to think of price-fixing as both nonnal and having a
valuable economic function. In fact. price-fixing is normal in all industrialized societies because
the industrial system itself provides. as an effortless consequence of its own development. the
price-fixing that it requires. Modern industrial planning requires and rewards grear size. Hence a
comparatively small number of large firms will be competing for the same group of consumers.
That each large firm will act with consideration of its own needs and thus avoid selling its
products for more than its competitors’ price is commonly recognized by advocated of free-
market economic theories. But each finn will also act with full consideration of the needs that it
has in common with the other large firms competing for the same customer. Each large finn thus
avoid significant stable price cutting. because price-cutting will be prejudicial to the common
interest i1 a stable demand for products.

Most economists do not see price-fixing when it occurs because they expect it to be brought
aboutr by a number of explicit agreements among large firms: it is not. Moreover. those
economists who argue that allowing the free market to operate without interference is the most
efficient method of establishing prices has not considered the economics of non-socialists
countries. Most of these economies employ infernational price-fixing, usually in an overt
fashion. Formal price fixing by carter and informal price fixing by agreements covering the
members of an indusiry are conunon place. Were there something peculiarly efficient about the
free market and mefficient about price-fixing, the counties that have avoided the first and used
the second would have suffered drastically in their economic development. There is no indication
that has.

Socialists industry also works within a framework of controlled prices. In early 1970s the Soviet
Union began to give firms and industries some flexibility in adjusting prices that a more informal
evolution has accorded the capitalist system. Economists in the USA have hailed the change as a
return to the free market. But the Soviet firms were not in favor of the price established by a free-
market over which they exercised little influence: rather. Soviet finns acquired some power to
fix prices.

SubQuestion No : 1
The author feels that price fixed by seller seems pernicious because

a) People don’t have faith in large firms.

b) People don’t want government to fix prices.

¢) Most economists believe that consumers should determine prices.
d) Most economists believe that one group should determine price.

X A
X B.2
wcas
X D.4

Question ID : 4774417290
Status : Answered
Chosen Option : 4
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Q.2

Ans

Comprehension:

Read the passages given below and answer the NEXT FIVE questions that follow.

Globalization. liberalization and free marker are some of the most significant modern trends in
an economy. Most economists in our country seem captivated by the spell of the free market.
Consequently. nothing seems good or normal that does not accord with the requirements of the
free market. A price that is determined by the seller or for that matter. established by anyone
other than the aggregate of consumers seems pernicious.

Accordingly. it requires a major act of will to think of price-fixing as both nonnal and having a
valuable economic function. In fact. price-fixing is normal in all industrialized societies because
the industrial system itself provides. as an effortless consequence of its own development. the
price-fixing that it requires. Modern industrial planning requires and rewards grear size. Hence a
comparatively small number of large firms will be competing for the same group of consumers.
That each large firm will act with consideration of its own needs and thus avoid selling its
products for more than its competitors’ price is commonly recognized by advocated of free-
market economic theories. But each finn will also act with full consideration of the needs that it
has in common with the other large firms competing for the same customer. Each large finn thus
avoid significant stable price cutting. because price-cutting will be prejudicial to the common
interest i1 a stable demand for products.

Most economists do not see price-fixing when it occurs because they expect it to be brought
aboutr by a number of explicit agreements among large firms: it is not. Moreover. those
economists who argue that allowing the free market to operate without interference is the most
efficient method of establishing prices has not considered the economics of non-socialists
countries. Most of these economies employ infernational price-fixing, usually in an overt
fashion. Formal price fixing by carter and informal price fixing by agreements covering the
members of an indusiry are conunon place. Were there something peculiarly efficient about the
free market and mefficient about price-fixing, the counties that have avoided the first and used
the second would have suffered drastically in their economic development. There is no indication
that has.

Socialists industry also works within a framework of controlled prices. In early 1970s the Soviet
Union began to give firms and industries some flexibility in adjusting prices that a more informal
evolution has accorded the capitalist system. Economists in the USA have hailed the change as a
return to the free market. But the Soviet firms were not in favor of the price established by a free-
market over which they exercised little influence: rather. Soviet finns acquired some power to
fix prices.

SubQuestion No : 2

What was the result of the then Soviet Union’s change in economic policy in 1970s?
a) Earned greater profits

b) Technological up gradation

¢) Less control over the market

d) None of these

X A1
X B.2
X cs
D4

Question ID : 4774417291
Status : Answered
Chosen Option : 4
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Q.3

Ans

Comprehension:

Read the passages given below and answer the NEXT FIVE questions that follow.

Globalization. liberalization and free marker are some of the most significant modern trends in
an economy. Most economists in our country seem captivated by the spell of the free market.
Consequently. nothing seems good or normal that does not accord with the requirements of the
free market. A price that is determined by the seller or for that matter. established by anyone
other than the aggregate of consumers seems pernicious.

Accordingly. it requires a major act of will to think of price-fixing as both nonnal and having a
valuable economic function. In fact. price-fixing is normal in all industrialized societies because
the industrial system itself provides. as an effortless consequence of its own development. the
price-fixing that it requires. Modern industrial planning requires and rewards grear size. Hence a
comparatively small number of large firms will be competing for the same group of consumers.
That each large firm will act with consideration of its own needs and thus avoid selling its
products for more than its competitors’ price is commonly recognized by advocated of free-
market economic theories. But each finn will also act with full consideration of the needs that it
has in common with the other large firms competing for the same customer. Each large finn thus
avoid significant stable price cutting. because price-cutting will be prejudicial to the common
interest i1 a stable demand for products.

Most economists do not see price-fixing when it occurs because they expect it to be brought
aboutr by a number of explicit agreements among large firms: it is not. Moreover. those
economists who argue that allowing the free market to operate without interference is the most
efficient method of establishing prices has not considered the economics of non-socialists
countries. Most of these economies employ infernational price-fixing, usually in an overt
fashion. Formal price fixing by carter and informal price fixing by agreements covering the
members of an indusiry are conunon place. Were there something peculiarly efficient about the
free market and mefficient about price-fixing, the counties that have avoided the first and used
the second would have suffered drastically in their economic development. There is no indication
that has.

Socialists industry also works within a framework of controlled prices. In early 1970s the Soviet
Union began to give firms and industries some flexibility in adjusting prices that a more informal
evolution has accorded the capitalist system. Economists in the USA have hailed the change as a
return to the free market. But the Soviet firms were not in favor of the price established by a free-
market over which they exercised little influence: rather. Soviet finns acquired some power to
fix prices.

SubQuestion No : 3

Author’s primary objective of narration in writing the passage seems to

a) Believe the popular belief that the free market helps enhance development of
industrial societies.

b) Advocate that price-fixing is unavoidable and is beneficial to the economy of
any industrialized society.

¢) Explain the merthodology of fixing price 1o stabilize free-marker.

d) Prove that price-fixing and free-market are compatible and mutually beneficial
to industrialized societies.

X A1
Ve
X cs3
X D.4

Question ID : 4774417287
Status : Answered
Chosen Option : 4
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Q.4

Ans

Comprehension:

Read the passages given below and answer the NEXT FIVE questions that follow.

Globalization. liberalization and free marker are some of the most significant modern trends in
an economy. Most economists in our country seem captivated by the spell of the free market.
Consequently. nothing seems good or normal that does not accord with the requirements of the
free market. A price that is determined by the seller or for that matter. established by anyone
other than the aggregate of consumers seems pernicious.

Accordingly. it requires a major act of will to think of price-fixing as both nonnal and having a
valuable economic function. In fact. price-fixing is normal in all industrialized societies because
the industrial system itself provides. as an effortless consequence of its own development. the
price-fixing that it requires. Modern industrial planning requires and rewards grear size. Hence a
comparatively small number of large firms will be competing for the same group of consumers.
That each large firm will act with consideration of its own needs and thus avoid selling its
products for more than its competitors’ price is commonly recognized by advocated of free-
market economic theories. But each finn will also act with full consideration of the needs that it
has in common with the other large firms competing for the same customer. Each large finn thus
avoid significant stable price cutting. because price-cutting will be prejudicial to the common
interest i1 a stable demand for products.

Most economists do not see price-fixing when it occurs because they expect it to be brought
aboutr by a number of explicit agreements among large firms: it is not. Moreover. those
economists who argue that allowing the free market to operate without interference is the most
efficient method of establishing prices has not considered the economics of non-socialists
countries. Most of these economies employ infernational price-fixing, usually in an overt
fashion. Formal price fixing by carter and informal price fixing by agreements covering the
members of an indusiry are conunon place. Were there something peculiarly efficient about the
free market and mefficient about price-fixing, the counties that have avoided the first and used
the second would have suffered drastically in their economic development. There is no indication
that has.

Socialists industry also works within a framework of controlled prices. In early 1970s the Soviet
Union began to give firms and industries some flexibility in adjusting prices that a more informal
evolution has accorded the capitalist system. Economists in the USA have hailed the change as a
return to the free market. But the Soviet firms were not in favor of the price established by a free-
market over which they exercised little influence: rather. Soviet finns acquired some power to
fix prices.

SubQuestion No : 4

Considering the literal meaning and connotations of the words used in the passage. the
authors’ attitude towards most economists can best be described as

a) Spiteful and envious

b) Impartial and unbiased

¢) Derogatory and antagonistic
d) Critical and condescending

X A1
ve2
X cs
X D.4

Question ID : 4774417289
Status : Answered
Chosen Option : 1
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Q.5

Ans

Comprehension:

Read the passages given below and answer the NEXT FIVE questions that follow.

Globalization. liberalization and free marker are some of the most significant modern trends in
an economy. Most economists in our country seem captivated by the spell of the free market.
Consequently. nothing seems good or normal that does not accord with the requirements of the
free market. A price that is determined by the seller or for that matter. established by anyone
other than the aggregate of consumers seems pernicious.

Accordingly. it requires a major act of will to think of price-fixing as both nonnal and having a
valuable economic function. In fact. price-fixing is normal in all industrialized societies because
the industrial system itself provides. as an effortless consequence of its own development. the
price-fixing that it requires. Modern industrial planning requires and rewards grear size. Hence a
comparatively small number of large firms will be competing for the same group of consumers.
That each large firm will act with consideration of its own needs and thus avoid selling its
products for more than its competitors’ price is commonly recognized by advocated of free-
market economic theories. But each finn will also act with full consideration of the needs that it
has in common with the other large firms competing for the same customer. Each large finn thus
avoid significant stable price cutting. because price-cutting will be prejudicial to the common
interest i1 a stable demand for products.

Most economists do not see price-fixing when it occurs because they expect it to be brought
aboutr by a number of explicit agreements among large firms: it is not. Moreover. those
economists who argue that allowing the free market to operate without interference is the most
efficient method of establishing prices has not considered the economics of non-socialists
countries. Most of these economies employ infernational price-fixing, usually in an overt
fashion. Formal price fixing by carter and informal price fixing by agreements covering the
members of an indusiry are conunon place. Were there something peculiarly efficient about the
free market and mefficient about price-fixing, the counties that have avoided the first and used
the second would have suffered drastically in their economic development. There is no indication
that has.

Socialists industry also works within a framework of controlled prices. In early 1970s the Soviet
Union began to give firms and industries some flexibility in adjusting prices that a more informal
evolution has accorded the capitalist system. Economists in the USA have hailed the change as a
return to the free market. But the Soviet firms were not in favor of the price established by a free-
market over which they exercised little influence: rather. Soviet finns acquired some power to
fix prices.

SubQuestion No : 5

Which of the following statements are TRUE in the context of the information given in
the passage? The information in the passage is helpful to

L Know some of the ways 1n which prices can be fixed.
. Identify the products for which price fixing can be more beneficial.
II.  Differentiate between the economies of various countries.

Select the most appropriate answer from the following:
a) OnlyT
b) OnlyIll

c) Only IIT
d) BothIand II

W A
X B.2
X cs3
X D.4

Question ID : 4774417288
Status : Answered
Chosen Option : 2
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Comprehension:

Traditional Indian values must be viewed both from the angle of the mdividual and from that of
the geographically delimited agglomeration of peoples or groups enjoying a cominon system of
leadership which we call the ‘state’. The Indian state’s special feature is the peaceful or perhaps
mostly peaceful co-existent of social groups of various historical provenances which mutually
adhere in a geographical. economic and political sense. without ever assimilating to each other in
social terms, in ways of thinking or ever in langnage. Modern Indian law will determine certain
rules especially in relation to the regime of the family. upon the basis of how the hon-cloth 1s
tied or how the turban is worn. for this may identifv the litigants as members of a rational group
and therefore as participants in its tradirional law. though their ancestors left the region three or
four centuries earlier.

The use of the word ‘State” above must not mislead us. There was no such thing as a conflict
berween the individual and the state at least before Foreign Governments became established.
just as there was no concept of state sovereignty or of any church and state dichotomy. Modern
Indian Secularism has an admittedly peculiar featre: Tt requires the state to make a fair
distribution of attention and support amongst all religions.

These blessed aspects of India’s famed tolerance (Indian kings so rarely persecuted religiously
groups that the exceptions prove the rule) at once struck Porfuguese and other European visitors
to the West Coast of India in 16% century and the impression made upon them in this and other
ways gave rise. at one remove to the basic Constitution of Thomas Mores™ Utopia. There 1s little
about modern India that srikes one at once as Utopian burt the insistence upon the inculcation of
norms and the absence of bigotry and institurionalized exploitation of human or natural resources
are rwo very different features which link the realities of India and her tradition with the essence
of all Utopians.

SubQuestion No : 6

Q.6 Which of the following is a special feature of the Indian State?
a) Peaceful co-existence of people under a command system of leadership.
b) Peaceful co-existence of social groups of different historical provenances attached to
each other in a geographical. economical and political sense.
¢) Social integration of all groups
d) Cultural assimilation of all social groups

Ans X' A 1
W B2
X cs
X D.4

Question ID : 4774417296
Status : Answered
Chosen Option : 2
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Comprehension:

Traditional Indian values must be viewed both from the angle of the mdividual and from that of
the geographically delimited agglomeration of peoples or groups enjoying a cominon system of
leadership which we call the ‘state’. The Indian state’s special feature is the peaceful or perhaps
mostly peaceful co-existent of social groups of various historical provenances which mutually
adhere in a geographical. economic and political sense. without ever assimilating to each other in
social terms, in ways of thinking or ever in langnage. Modern Indian law will determine certain
rules especially in relation to the regime of the family. upon the basis of how the hon-cloth 1s
tied or how the turban is worn. for this may identifv the litigants as members of a rational group
and therefore as participants in its tradirional law. though their ancestors left the region three or
four centuries earlier.

The use of the word ‘State” above must not mislead us. There was no such thing as a conflict
berween the individual and the state at least before Foreign Governments became established.
just as there was no concept of state sovereignty or of any church and state dichotomy. Modern
Indian Secularism has an admittedly peculiar featre: Tt requires the state to make a fair
distribution of attention and support amongst all religions.

These blessed aspects of India’s famed tolerance (Indian kings so rarely persecuted religiously
groups that the exceptions prove the rule) at once struck Porfuguese and other European visitors
to the West Coast of India in 16% century and the impression made upon them in this and other
ways gave rise. at one remove to the basic Constitution of Thomas Mores™ Utopia. There 1s little
about modern India that srikes one at once as Utopian burt the insistence upon the inculcation of
norms and the absence of bigotry and institurionalized exploitation of human or natural resources
are rwo very different features which link the realities of India and her tradition with the essence
of all Utopians.

SubQuestion No : 7

Q.7 The author uses the word ‘state” to highlight
a)  Antagonistic relationship between the state and the individual throughout the
period of history.
b)  Absence of conflict between the state and the individuals upto a point in time.
¢)  The conceprt of state sovereignty
d)  Dependence on religion

Ans XA 1
X B.2
X cs
D4

Question ID : 4774417293
Status : Answered
Chosen Option : 4
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Comprehension:

Traditional Indian values must be viewed both from the angle of the mdividual and from that of
the geographically delimited agglomeration of peoples or groups enjoying a cominon system of
leadership which we call the ‘state’. The Indian state’s special feature is the peaceful or perhaps
mostly peaceful co-existent of social groups of various historical provenances which mutually
adhere in a geographical. economic and political sense. without ever assimilating to each other in
social terms, in ways of thinking or ever in langnage. Modern Indian law will determine certain
rules especially in relation to the regime of the family. upon the basis of how the hon-cloth 1s
tied or how the turban is worn. for this may identifv the litigants as members of a rational group
and therefore as participants in its tradirional law. though their ancestors left the region three or
four centuries earlier.

The use of the word ‘State” above must not mislead us. There was no such thing as a conflict
berween the individual and the state at least before Foreign Governments became established.
just as there was no concept of state sovereignty or of any church and state dichotomy. Modern
Indian Secularism has an admittedly peculiar featre: Tt requires the state to make a fair
distribution of attention and support amongst all religions.

These blessed aspects of India’s famed tolerance (Indian kings so rarely persecuted religiously
groups that the exceptions prove the rule) at once struck Porfuguese and other European visitors
to the West Coast of India in 16% century and the impression made upon them in this and other
ways gave rise. at one remove to the basic Constitution of Thomas Mores™ Utopia. There 1s little
about modern India that srikes one at once as Utopian burt the insistence upon the inculcation of
norms and the absence of bigotry and institurionalized exploitation of human or natural resources
are rwo very different features which link the realities of India and her tradition with the essence
of all Utopians.

SubQuestion No : 8
Q@& Which one is the peculiar feature of modern India ‘secularism’?
a) No discrimination on religious considerations
b) Total indifference to religion
c) No space for social identity
d) Disregard for social law
Ans J A1
X B.2
X ca3
X D.4

Question ID : 4774417294
Status : Answered
Chosen Option : 1
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Q.9

Ans

Comprehension:

Traditional Indian values must be viewed both from the angle of the mdividual and from that of
the geographically delimited agglomeration of peoples or groups enjoying a cominon system of
leadership which we call the ‘state’. The Indian state’s special feature is the peaceful or perhaps
mostly peaceful co-existent of social groups of various historical provenances which mutually
adhere in a geographical. economic and political sense. without ever assimilating to each other in
social terms, in ways of thinking or ever in langnage. Modern Indian law will determine certain
rules especially in relation to the regime of the family. upon the basis of how the hon-cloth 1s
tied or how the turban is worn. for this may identifv the litigants as members of a rational group
and therefore as participants in its tradirional law. though their ancestors left the region three or
four centuries earlier.

The use of the word ‘State” above must not mislead us. There was no such thing as a conflict
berween the individual and the state at least before Foreign Governments became established.
just as there was no concept of state sovereignty or of any church and state dichotomy. Modern
Indian Secularism has an admittedly peculiar featre: Tt requires the state to make a fair
distribution of attention and support amongst all religions.

These blessed aspects of India’s famed tolerance (Indian kings so rarely persecuted religiously
groups that the exceptions prove the rule) at once struck Porfuguese and other European visitors
to the West Coast of India in 16% century and the impression made upon them in this and other
ways gave rise. at one remove to the basic Constitution of Thomas Mores™ Utopia. There 1s little
about modern India that srikes one at once as Utopian burt the insistence upon the inculcation of
norms and the absence of bigotry and institurionalized exploitation of human or natural resources
are rwo very different features which link the realities of India and her tradition with the essence
of all Utopians.

SubQuestion No : 9
The basic construction of Thomas More’s Utopia was inspired by
a) India traditional religious tolerance
b) Persecution of religious groups by Indian rulers
¢) Social inequality in India
d) European perception of Indian state
W A
X B.2
X cs
X D.4

Question ID : 4774417295
Status : Answered
Chosen Option : 2
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Comprehension:

Tradinonal Indian values must be viewed both from the angle of the mdividual and from that of
the geographically delimited agglomeration of peoples or groups enjoying a cominon system of
leadership which we call the ‘state’. The Indian state’s special feature is the peaceful or perhaps
mostly peaceful co-existent of social groups of various historical provenances which mutually
adhere in a geographical. economic and political sense. without ever assimilating to each other in
social terms, in ways of thinking or ever in langnage. Modern Indian law will determine certain
rules especially in relation to the regime of the family. upon the basis of how the hon-cloth 1s
tied or how the turban is worn. for this may identifv the litigants as members of a rational group
and therefore as participants in its tradirional law. though their ancestors left the region three or
four centuries earlier.

The use of the word ‘State” above must not mislead us. There was no such thing as a conflict
berween the individual and the state at least before Foreign Governments became established.
just as there was no concept of state sovereignty or of any church and state dichotomy. Modern
Indian Secularism has an admittedly peculiar feature: It requires the state to make a fair
distribution of attention and support amongst all religions.

These blessed aspects of India’s famed tolerance (Indian kings so rarely persecuted religiously
groups that the exceptions prove the rule) at once struck Porfuguese and other European visitors
to the West Coast of India in 16% century and the impression made upon them in this and other
ways gave rise. at one remove to the basic Constitution of Thomas Mores™ Utopia. There 1s little
about modern India that sirikes one at once as Utopian but the insistence upon the inculcation of
norms and the absence of bigotry and institurionalized exploitation of human or natural resources
are two very different feamures which link the realities of India and her tradition with the essence
of all Utopians.

SubQuestion No : 10
@10 What is the striking feature of modern India?
a) A replica of Utopian state
b) Uniform laws
¢) Adherence to traditional values
d) Absence of bigotry

Ans X A1
X B.2
X cs3
D4

Question ID : 4774417297
Status : Answered
Chosen Option : 4

Q.11 The authorization for the withdrawal of funds from the Consolidated Fund of India must
come from:

a) President of India

b)  Prime Minister of India
¢) The Parliament

d) Union Finance Minister

Ans X A1
X B.2
vcs
X D.4

Question ID : 4774417327
Status : Answered
Chosen Option : 4
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Q12 Select one word to describe the phenomenon narrated in the stem-
Story of old time Gods and Heroes is

a) Lyric

b) Epic

c) Legend
d) Romance

Ans X' A1
X B.2
vcs
X D.4

Question ID : 4774417301
Status : Answered
Chosen Option : 2

Q.13 Choose the missing word in place of sign (?) on the basis of the relationship between the
words given on the left/right hand side of the signs.

Food : Stomach 5 Fuel : ?
a) Engine
b) Rail

) Automobile
d) Aeroplane

Ans JAW
X B.2
X cs
X D.4

Question ID : 4774417344
Status : Answered
Chosen Option : 1

Q14 “Kathakali’ is a folk dance prevalent in which Indian state?

a) Karnataka

b) Orissa

c) Kerala

d) Manipur
Ans X A 1

X B.2

vcs

X D.4

Question ID : 4774417322
Status : Answered
Chosen Option : 1
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Q@15 Which of the following indices is NOT released by the UNDP?

a) Human Development Index

b) Multidimensional Poverty Index

¢) Gender Inequality Index

d) Environmental Quality Index
Ans X A1

X B.2

X cs

D4

Question ID : 4774417329
Status : Answered
Chosen Option : 1

Q16 Correct the sentence(s) by appropriately choosing options given below
He is too important for tolerating any delay.

a) to tolerate

b) at tolerating

c) to tolerating
d) with tolerating

Ans  of A 1
X B.2
X ca3
X D.4

Question ID : 4774417312
Status : Answered
Chosen Option : 1

@17 Which of the following is an air-borne disease?

a) Measles

b) Pink eye

C) Typhoid

d) Malaria
Ans  of A 1

X B.2

X c3

X D.4

Question ID : 4774417319
Status : Answered
Chosen Option : 2
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Q.18 Captain is related to Soldier in the same way as Leader is related to ---=-=-=m-mvemunm-- :

a) Chawr
b) Party
c) Follower
d) Minister
Ans x A1
X B.2
vwcs
X D.4

Question ID : 4774417340
Status : Answered
Chosen Option : 4

Q.19 Choose the missing word in place of sign (?) on the basis of the relationship between the
words given on the left/right hand side of the signs.

Doctor : Nurse 8 2 : Follower

a) Worker
b) Union

c) Employer
d) Teader

Ans X A1
X B.2
X ca3
v oW

Question ID : 4774417343
Status : Answered
Chosen Option : 4

Q20 Fij]] in the blanks from options given below to complete the sentence.
Our country is spiritual country, theirs ----------- religious.
a) is
b) are
C) have
d) also

Ans  of A 1
X B.2
X c3
X D.4

Question ID : 4774417303
Status : Answered
Chosen Option : 2
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@21 What makes the reptile a reptile?

a) Cold bloodedness
b) Non-hearing
c) Warm bloodedness
d) Egg- laying
Ans  of A1
X B.2
X cs3
X D4

Question ID : 4774417318
Status : Answered
Chosen Option : 2

Q.22 Correct the sentence(s) by appropriately choosing options given below
There are not many men who are so famous that they are frequently referred to by their
short names only.

a)
b)
°)
d)

initials
signatures
pictures
middle names

Ans JAW
X B.2
X c3
X D.4

Question ID : 4774417309
Status : Answered
Chosen Option : 4

Q23 Select one word to describe the phenomenon narrated in the stem-
A sad song is called

a) Ditty
b) Knell
c) Dirge
d) Lay
Ans x A1
X B.2
vcs

X D.4

Question ID : 4774417302
Status : Answered
Chosen Option : 1
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Q.24 Who assigns star ratings on eleciric goods in India on the basis of energy efficiency?

a) Finance ministry

b) Bureau of Energy Efficiency
¢) Bureau of Indian Standards
d) Indian Standard Institute

Ans A1
ve2
X ca3
X D.4

Question ID : 4774417332
Status : Answered
Chosen Option : 2

Q.25 Skirmish is related to War in the same way as Disease is related to =--=-======-=--= :

a) Infection
b) Patient

c) Epidemic
d) Medicine

Ans X A 1
X B.2
vcs
X D.4

Question ID : 4774417342
Status : Answered
Chosen Option : 1

Q.26 Select one word to describe the phenomenon narrated in the stem-
Commencement of words with the same letter is

a) Pun
b) Alliteration
¢) Transferred epithet
d) Oxymoron
Ans X A 1
V52
X cs
X D.4

Question ID : 4774417299
Status : Answered
Chosen Option : 2
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Q.27 What is the force of attraction between any two bodies by virtue of their masses called?

a) Electromagnetic force
b) Centripetal force

¢) Gravitational force
d) Nuclear force

Ans B A1

X B2

vcs

X D.4

Question ID : 4774417315
Status : Answered
Chosen Option : 3

Q.28

Who founded Satya Shodhak Samaj in 18737

a)  Shri Bharat Kumar
b) Bankim Chandra Chattophadhya
¢) Purshottam Das Tandon
d) Jyotibha Phule
Ans X A1
X B.2
X ca3
D4

Question ID : 4774417321
Status : Answered
Chosen Option : 2

Q.29 The fundamental duties were included in the Indian Constitution by which of the
following Constitutional Amendment Acts.

a) 42
b) 44%
c) 40lh
d) 43th

Ans  of A 1
X B.2
X cs
X D.4

Question ID : 4774417326
Status : Answered
Chosen Option : 3
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Q.30 Which Constitutional Amendment has provided Free and Compulsory Elementary
Education (o all children in the age group 6-14 years as a Fundamental Right?

a) 76%
b) r ki
<) 86"
d) 78t

Ans X A1
X B.2
vcs
X D.4

Question ID : 4774417313
Status : Answered
Chosen Option : 3

@31 Select one word to describe the phenomenon narrated in the stem-
A lady’s umbrella is

a) Parasol
b) Granary
c) Epitaph
d) Aviary

Ans JAW
X B.2
X cs
X D.4

Question ID : 4774417300
Status : Answered
Chosen Option : 2

@32 The famous hill station ‘Kondaikanal® is located in

a) Nilgiri Hills

b) Palani Hills

¢) Cardamon Hills

d) Javadi Hills
Ans X A1

V52

X ca3

X D.4

Question ID : 4774417323
Status : Answered
Chosen Option : 1
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@33 Fill in the blanks from options given below to complete the sentence.
Please. don’t laugh ---------- those beggars.

a) for
b) against
c) at
d) from
Ans X A 1
X B.2
vcs

X D.4

Question ID : 4774417306
Status : Answered
Chosen Option : 1

Q.34 2019 Nobel Memorial Prize in Economiics Sciences awarded to Michael Kremer, Abhijit
Banerjee and Esther Duflo for their experimental approachto .........................

a) Wealth Creation

b) Poverty Alleviation

c) Equitable distribution of Wealth
d) Financial Inclusion

Ans B A1
VB2
X cs3
X D.4

Question ID : 4774417337
Status : Answered
Chosen Option : 2

@35 NBFCs stands for

a) National Banking and Financial Companies
b) National Business and Finance Companies
¢) Non-Banking Financial Companies

d) New Banking and Financial Companies

Ans A 1
X B.2
vcs
X D.4

Question ID : 4774417330
Status : Answered
Chosen Option : 1
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Q.36 Fill in the blanks from options given below to complete the sentence.

Our sir teaches Mathematics ------------ English.
a) across
b) besides
) beside
d) both
Ans X' A1
ve2
X c3
X D.4

Question ID : 4774417304
Status : Answered
Chosen Option : 2

Q.37 Ratna says. “Gawav's father is the only son of my father”. How is Ratna related to
Gaurav?

a) Grandmother
b) Sister

) Mother

d) Aunt

Ans X A1
X B.2
X c3
D4

Question ID : 4774417339
Status : Answered
Chosen Option : 2

Q.38 Correct the sentence(s) by appropriately choosing options given below

The small child does whatever his father was done.

a) has done
b) did

c) does

d) had done

Ans X' A1
X B.2
vcs
X D.4

Question ID : 4774417308
Status : Answered
Chosen Option : 3
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@39 Every year International Women’s Day is celebrated on

a) March 8

b) JuneSs

¢) December 10
d) January 10

Ans JAW
X B.2
X cs
X D.4

Question ID : 4774417335
Status : Answered
Chosen Option : 2

Q40 Which one of the following is the richest source of vitamin C?

a) Guava
b) Orange
c) Pineapple
d) Tomato
Ans X A 1
VB2
X cs
X D.4

Question ID : 4774417314
Status : Answered
Chosen Option : 1

241 Who authored the ‘Business@ Speed of Thought’.

a) Dick Francis

b) Bill Gates

¢) Eon Musk

d) Mark Zuckerberg
Ans X A 1

Question ID : 4774417316
Status : Answered
Chosen Option : 4
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Q.42 Which city police has launched a mobile app “digicop’ to track the status of stolen two-
wheeler and cell- phones?

a) Hyderabad
b) Chennal

¢) Bengalumu
d) Pune

Ans B A1
VB2
X cs3
X D.4

Question ID : 4774417334
Status : Answered
Chosen Option : 3

Q.43 Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief and social
work?

a) Ramakrishna Paramahansa
b) Swami Vivekananda

¢) Swami Dayananda Saraswati
d) Blavatsky and Olcott

Ans B A1

ve2

X cs

X D.4

Question ID : 4774417320
Status : Answered
Chosen Option : 2

Q.44

Correct the sentence(s) by appropriately choosing options given below
The man to who I sold my house was a cheat.

a) to whom I sell
b) who was sold to
C) to who I sell
d) to whom I sold
Ans x A1
X B.2
X cs

D4

Question ID : 4774417310
Status : Answered
Chosen Option : 4
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Q.45 IMF Chief economists Gita Gopinath is an alumnus of

a) IIM- Ahmedabad
b) IIM- Bangalore
¢) IIM- Calcutta

d) IIM- Lucknow

Ans X A 1
X B.2
vcs
X D.4

Question ID : 4774417336
Status : Answered
Chosen Option : 1

Q.46 Correct the senfence(s) by appropriately choosing options given below
I need not offer any explanation regarding this incident- my behavior is speaking itself.

a) will speak to itself
b) has been speaking
c) speaks for itself

d) speaks about itself

Ans X A1
X B.2
vcs
X D.4

Question ID : 4774417311
Status : Answered
Chosen Option : 2

Q.47 Tree is related to Root in the same way as Smoke is related

a) Cigarette
b) Heat

c) Fire

d) Chimney

Ans X A1
X B.2
vcs
X D.4

Question ID : 4774417341
Status : Answered
Chosen Option : 3
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Q.48

Ans

Sia introduced Raghav as the son of the only daughter of the father of her uncle. How 1s
Raghav related to Sia?

a) Brother

b) Cousin

) Nephew

d) Can't be defrermined

X A
X B.2
X cs3
W4

Question ID : 4774417338
Status : Answered
Chosen Option : 2

Q.49

Ans

Which three indicators are used in the Human Development Index?
I- Standard of Living
[I- Education
III- Life Expectancy
IV- Environment Pollution

a) OnlyI IIand IV
b) OnlyIandII

¢) OnlyI ITand IO
d) All of the above

X A1
X B.2
vwcs
X D.4

Question ID : 4774417328
Status : Answered
Chosen Option : 3
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Q.50 In Union Cabinet. total number of ministers including the Prime Minister shall not exceed

a) 20 % members of Lok Sabha
b) 15% members of LoK Sabha
¢) 25% members of Lak Sabha
d) 10% members of Lok Sabha

Ans X' A1
ve2
X ca3
X D.4

Question ID : 4774417325
Status : Answered
Chosen Option : 2

Q.51 Who chaired the RBI expert comunmittee to review its Extant Economic Capital
Framework?

a) C Rangarajan
b) Bimal Jalan
¢) LCGupta

d) Aditya Puni

Ans X A1
VB2
X c3
X D.4

Question ID : 4774417331
Status : Answered
Chosen Option : 1

Q52 Fill in the blanks from options given below to complete the sentence.

Please. stop --------- so many mistakes.

a) to make
b) make

c) making
d) makes

Ans X' A1
X B.2
vcs
X D.4

Question ID : 4774417307
Status : Answered
Chosen Option : 3
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Q.53

Ans X A1
X B.2
vwcs
X D.4

India’s only active volcano is located in which Island?

a)  Elephanta Island
b)  Havelock Island
C) Barren Island

d)  Car Nicobar

Question ID : 4774417324
Status : Answered
Chosen Option : 4

a)
b)

<)
d)

Ans JAW
X B.2
X c3
X D.4

Q.54 Fill in the blanks from options given below to complete the sentence.
Please. come

the bathroom.

out of
over
on

n

Question ID : 4774417305
Status : Answered
Chosen Option : 1

a) Finland
b) Sweden
¢) Norway
d) Austria

Ans JA_q
X B.2
X cs3
X D.4

Q.55 Name the country. where the entire government has resigned after failing to achieve a
key policy goal on social welfare and healthcare system in recent rimes?

Question ID : 4774417333
Status : Answered
Chosen Option : 2
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@% Fungi are plants that lack

a) Oxygen

b) Chlorophyll

c) Carbon dioxide
d) None of these

Ans X A 1
VB2
X cs
X D.4

Question ID : 4774417317
Status : Answered
Chosen Option : 2

Q.57 Select one word to describe the phenomenon narrated in the stem-
A Person who renounces the world and practices self-discipline in order to attain
salvation is
a) Sceptic
b) Ascetic
c) Devotee
d) Antiquarian

Ans X A1
VB2
X cs
X D.4

Question ID : 4774417298
Status : Answered
Chosen Option : 1
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Comprehension:
Read the following information carefully and answer the NEXT FIVE questions given
below:

Six members of a family G. H. L J, K and L are Chemist. Clerk, Lawyer. Jeweller,
Medico and Engineer but not in the same order.

I Medico 1s he Grandfather of L and he is a Chemnist
i Clerk J is married to G

m 1. who is a jeweler. is married to lawyer

v There are two married couples in the family

A% H is the mother of L and K
SubQuestion No : 58

%8 How G is related to K?

a) Wife

b) Grandmother

C) Father

d) Grandfather
Ans X A 1

X B.2

X cs

D4

Question ID : 4774417348
Status : Answered
Chosen Option : 4
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Comprehension:

Read the following information carefully and answer the NEXT FIVE questions given
below:

Six members of a family G. H. L J, K and L are Chemist. Clerk, Lawyer. Jeweller,
Medico and Engineer but not in the same order.

I Medico is he Grandfather of L and he is a Chemist
I Clerk J is married to G

m 1. who is a jeweler. is married to lawyer

v There are two married couples in the family

v H is the mother of L and K
SubQuestion No : 59

@ How many male members are there in the family?

a) Two

b) Four

C) Three

d) Can’t be determined
Ans X A1

X B.2

X cs3

D4

Question ID : 4774417347
Status : Answered
Chosen Option : 4
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Comprehension:

Read the following information carefully and answer the NEXT FIVE questions given
below:

Six members of a family G. H. L J, K and L are Chemist. Clerk, Lawyer. Jeweller,
Medico and Engineer but not in the same order.

I Medico is he Grandfather of L and he is a Chemist
I Clerk J is married to G

m 1. who is a jeweler. is married to lawyer

v There are two married couples in the family

v H is the mother of L and K
SubQuestion No : 60

4% What is the profession of G?

a) Lawyer

b) Engineer

c) Clerk

d) Medico
Ans XA 1

X B.2

X cs3

W D4

Question ID : 4774417349
Status : Answered
Chosen Option : 4
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Comprehension:
Read the following information carefully and answer the NEXT FIVE questions given
below:

Six members of a family G. H. L J, K and L are Chemist. Clerk, Lawyer. Jeweller,
Medico and Engineer but not in the same order.

I Medico 1s he Grandfather of L and he is a Chemnist
i Clerk J is married to G

m 1. who is a jeweler. is married to lawyer

v There are two married couples in the family

A% H is the mother of L and K
SubQuestion No : 61

@61 What is the profession of K?

a) Medico

b) Engineer

C) Clerk

d) Physician
Ans X' A 1

vB2

X cs

X D.4

Question ID : 4774417346
Status : Answered
Chosen Option : 2
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Comprehension:

Read the following information carefully and answer the NEXT FIVE questions given
below:

Six members of a family G. H. L J, K and L are Chemist. Clerk, Lawyer. Jeweller,
Medico and Engineer but not in the same order.

I Medico is hie Grandfather of L and he is a Chemist

I Clerk J is married to G

m 1. who is a jeweler. is married to lawyer

v There are two married couples in the family

v H is the mother of L and K

SubQuestion No : 62
@62 Who are the two couples in the family?

a) GJ and IH

b) GK and JK

c) GHand IT

d) Gl and HJ
Ans J A1

X B.2

X cs

X D.4

Question ID : 4774417350
Status : Answered
Chosen Option : 1
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Comprehension:

Read the following information carefully and answer the NEXT FIVE questions given below:

There are four fiiends Amu. Shyam. Rani and Harsh. One of them is a cricketer and studies
Chemisiry and Biology. Anju and Shyam play football. Amju studies commerce. Both the
tootball players study Mathematics. Harsh is a boxer. One football player also studies Physics.
The boxer studies Mathematics and Accountancy. All the friends study two subjects each and
play one game each.

SubQuestion No : 63

2% Who does not study Mathematics?
a) Rani
b) Harsh
¢) Shyam

d) Both Rani and Harsh
Ans o A1

X B.2

X cs

X D.4

Question ID : 4774417353
Status : Answered
Chosen Option : 1

Comprehension:

Read the following information carefully and answer the NEXT FIVE questions given below:

There are four fitends Amu. Shyam. Rani and Harsh. One of them is a cricketer and studies
Chemistiry and Biology. Anju and Shyam play football. Amju studies commerce. Both the
football plavers study Mathematics. Harsh is a boxer. One football player also studies Physics.
The boxer studies Mathematics and Accountancy. All the friends study two subjects each and
play one game each.

SubQuestion No : 64

Q64 Who plays cricket?

a) Anju

b) Rani

C) Shyam

d) Harsh
Ans X' A 1

Question ID : 4774417352
Status : Answered
Chosen Option : 2
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Comprehension:
Read the following information carefully and answer the NEXT FIVE questions given below:

There are four fiiends Amu. Shyam. Rani and Harsh. One of them is a cricketer and studies
Chemistry and Biology. Anju and Shyam play football. Amju studies commerce. Both the
tootball players study Mathematics. Harsh is a boxer. One football player also studies Physics.

The boxer studies Mathematics and Accountancy. All the friends study two subjects each and
play one game each.

SubQuestion No : 65

Who study physics?

Q.65

a) Anju

b) Shyam

C) Rani

d) Harsh
Ans XA 1

VB2

X cs

X D.4

Question ID : 4774417354
Status : Answered
Chosen Option : 2

Comprehension:
Read the following information carefully and answer the NEXT FIVE questions given below:

There are four fitends Amju. Shyam. Rani and Harsh. One of them is a cricketer and studies
Chemisiry and Biology. Anju and Shyam play football. Amju studies commerce. Both the
tootball plavers study Mathematics. Harsh is a boxer. One football player also studies Physics.

The boxer studies Mathematics and Accountancy. All the friends study two subjects each and
play one game each.

SubQuestion No : 66
Q.66 Name the person who is not a boxer. but studies both Chemistry and Biology?

a) Harsh
b) Rani
c) Anju
d) Shyam

Ans XA 1
VB2
X cs
X D.4

Question ID : 4774417356
Status : Answered
Chosen Option : 2
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Comprehension:

Read the following information carefully and answer the NEXT FIVE questions given below:

There are four fiiends Amu. Shyam. Rani and Harsh. One of them is a cricketer and studies
Chemistry and Biology. Anju and Shyam play football. Amju studies commerce. Both the
tootball players study Mathematics. Harsh is a boxer. One football player also studies Physics.

The boxer studies Mathematics and Accountancy. All the friends study two subjects each and
play one game each.

SubQuestion No : 67

@87 Who study Commerce and does play football?

a) Harsh
b) Shyam
c) Anju
d) Rani

Ans X' A 1

Question ID : 4774417355
Status : Answered
Chosen Option : 3

Comprehension:

Read the following information and answer the NEXT FIVE questions that follow:

In a school. there were five teachers. A and B were teaching Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B were
reaching History and French.

SubQuestion No : 68

Q68 Who among the teachers was teaching maximum number of subjects?

a) A
b) (B
C) D
d) B

Ans X A 1
X B.2
X cs
W D4

Question ID : 4774417358
Status : Answered
Chosen Option : 4
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Comprehension:

Read the following information and answer the NEXT FIVE questions that follow:
In a school. there were five teachers. A and B were teaching Hindi and English. C and B were

teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B were
reaching History and French.

SubQuestion No : 69
Q.69 Which of the following teachers were teaching both Geography and Hindi?

a) AandB
b) Cand A
) Band C
d) None of these

Ans X' A 1
X B.2
X cs
D4

Question ID : 4774417359
Status : Answered
Chosen Option : 4

Comprehension:

Read the following information and answer the NEXT FIVE questions that follow:

In a school. there were five teachers. A and B were teaching Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B were
reaching History and French.

SubQuestion No : 70

@70 D. B and A were teaching which of the following subjects?

a) English only

b) Hindi and English

C) Hindi only

d) English and Geography
Ans X' A 1

X B.2

vcs

X D.4

Question ID : 4774417361
Status : Answered
Chosen Option : 2
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Comprehension:

Read the following information and answer the NEXT FIVE questions that follow:
In a school. there were five teachers. A and B were teaching Hindi and English. C and B were

teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B were
reaching History and French.

SubQuestion No : 71
Q.71 Which of the following subject was taught by more than two teachers?

a) History

b) French

c) Hindi

d) Geography
Ans XA 1

X B.2

v

X D.4

Question ID : 4774417360
Status : Answered
Chosen Option : 3

Comprehension:

Read the following information and answer the NEXT FIVE questions that follow:
In a school. there were five teachers. A and B were teaching Hindi and English. C and B were

teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B were
reaching History and French.

SubQuestion No : 72

Q.72 Which of the following subjects were taught by A. B and C teachers?

a) Hindi

b) English

c) Geography
d) History

Ans X A 1
vEB2
X cs3
X D.4

Question ID : 4774417362
Status : Answered
Chosen Option : 2
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Comprehension:

In the next THREE questions. a statement is followed by two conclusions numbered 1 and 2 and
responses are coded as:

a) If only conclusion 1 follows
b) If only conclusion 2 follows
¢) Ifneither 1 nor 2 follows
d) Ifboth | and 2 follows

SubQuestion No : 73

Q73 Statement: Money plays most important role in politics.
Conclusions:
1 The poor can never become politicians
2 All rich men take part in politics

In the above question, a statement is followed by two conclusions numbered
1 and 2 and responses are coded as:

a) If only conclusion 1 follows
b) If only conclusion 2 follows
c¢) If neither 1 nor 2 follows
d) Ifboth 1 and 2 follows

Ans X A 1
X B.2
wcas
X D.4

Question ID : 4774417365
Status : Answered
Chosen Option : 1
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Comprehension:
In the next THREE questions. a statement is followed by two conclusions numbered 1 and 2 and
responses are coded as:

a) If only conclusion 1 follows
b) If only conclusion 2 follows
¢) Ifneither 1 nor 2 follows
d) Ifboth | and 2 follows

SubQuestion No : 74
Q.74 Statement: Morning walks are good for health.

Conclusions:
1 All healthy people goes for moming walks
2 Evening walks are not beneficial for health

In the above question. a statement is followed by two conclusions numbered
1 and 2 and responses are coded as:

a) If only conclusion 1 follows
b) If only conclusion 2 follows
¢) Ifneither 1 nor 2 follows
d) Ifboth 1 and 2 follows

Ans X' A 1
X B.2
wcas
X D.4

Question ID : 4774417364
Status : Answered
Chosen Option : 1
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Comprehension:

In the next THREE questions. a statement is followed by two conclusions numbered 1 and 2 and
responses are coded as:

a) If only conclusion 1 follows
b) If only conclusion 2 follows
¢) Ifneither 1 nor 2 follows
d) Ifboth | and 2 follows

SubQuestion No : 75
Q.75 Statement:  Should there be only one University throughout India?

Conclusions:
1 Yes. this is the only way to bring about uniformity in the educational
standards in the country.
2 No. this is administratively impossible.

In the above question. a statement is followed by two conclusions numbered
1 and 2 and responses are coded as:

a) If only conclusion 1 follows
b) If only conclusion 2 follows
¢) Ifneither 1 nor2 follows
d) Ifboth 1 and 2 follows

Ans X A1
ve2
X cs
X D.4

Question ID : 4774417366
Status : Answered
Chosen Option : 3

Q.76 With growing service orientation of businesses, which of the following business activity
has lost it sheen in recent times?

a) Marketing

b) Market Research
) Manufacturing
d) Banking

Ans X A 1
X B.2
vcs
X D.4

Question ID : 4774417369
Status : Answered
Chosen Option : 1
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Q.77 Choose the option that completes the sentence most meaningfully and appropriately.
People in ancient Greece were so with war and of life
that they preferred to kill their handicapped children at birth.
a) fraught uncertainties
b) obsessed frightened
c) busy heartlessness
d) preoccupied  easiness
Ans J A1
X B.2
Xcs
X D.4
Question ID : 4774417374
Status : Answered
Chosen Option : 2
Q.78 Choose the option that completes the sentence most meaningfully and appropriately.
The women in India were kept under until the new laws in free India
ensured their from the tentacles of orthodox society.
a) mmpression  education
b) shackles exculpation
c) subjugation  emancipation
d) pressure release
Ans X A1
X B.2
vwcs
X D.4
Question ID : 4774417373
Status : Answered
Chosen Option : 4
Q.79 In digital transformations. which kind of business entities have suffered the most?
a) Service entities
b) Livestock entities
c) Agro based entities
d) Small business entities
Ans A 1
X B2
Xcs
D4
Question ID : 4774417370
Status : Answered
Chosen Option : 2
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Q.80 Choose the option that completes the sentence most meaningfully and appropriately.

The terrible disease a Mumbai doctor had and declared the
demise of the eminent leader.

a) announced  eminent
b) suspected unlikely
c) treated suspected
d) diagnosed imminent

Ans X A1
X B.2
X cs
D4

Question ID : 4774417376
Status : Answered
Chosen Option : 1

Q.81 Choose the option that completes the sentence most meaningtully and appropriately.

Some writers have claumed that Theocratic state 1s . they have even
insisted that such a model of leadership is more

a) repressive authoritarian
b) division plural

) religious tolerant

d) democratic  liberal

Ans  of A1
X B.2
X cs
X D.4

Question ID : 4774417372
Status : Answered
Chosen Option : 1

Q.82 Social media and digital space often distract focused attention. is still visited by managers
for

a) Market making

b) Brand building

) Botlh (a) and (b)
d) None of these

Ans X A 1
X B.2
vcs
X D.4

Question ID : 4774417367
Status : Answered
Chosen Option : 4
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Q.83 With growing digitization of businesses, which of the following has emerged as a key
managerial skill in recent times?

a) Communication skill
b) Emotional intelligence

c) Appearance and soft skill
d) Data analysis skill

Ans xA-1
X B.2
X cs
D4

Question ID : 4774417368
Status : Answered
Chosen Option : 1

Q.84  Choose the option that completes the sentence most meaningfully and appropriately.

People were charmed by his appearance and
deportment.
a) ugly haughty
b) handsome dignified
c) cute rde
d) shabby snobbish
Ans x A1
VB2
X ca3
X D.4

Question ID : 4774417375
Status : Answered
Chosen Option : 2

Q85 yalue creation is more challenging in which kind of business entities?

a) Agribusiness entities
b) Manufacturing entities
C) Mining entities
d) Service business entities
Ans x A1
X B.2
X cs

D4

Question ID : 4774417371
Status : Answered
Chosen Option : 3
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Comprehension:

Study the passage given below and answer the NEXT FIVE questions that follow:

If proof were needed that the organized sector of the Indian economy is globalised, look no
further than the knee-jerk reaction of Jet Airways. which issued marching orders to 800
employees and then retracted following an adverse reaction. has now morphed into a strategic
plan by companies to keep to keep their heads above the rising waters. This strategy 1s predicted
on the need to cut costs and protect profit margins as far as possible rather than look to
increasing revenue in what is rurning out to be a slowing marker. Auto majors such as Tata
Motors, Ashoka Leyland and Mahindra & Mahindra have began 1o cut back production and
reduce man-hours at their plants across India in a bid to prevent inventory pile-up and tailor
output to falling demand. It will not be long before auto component vendors follow suit,
followed by firms across the product spectrum. Organized mdusury 1s learning o cope with the
downside of a business cycle that first manifested itself last year in the wake of rising raw
material and energy prices and in the lagged effects of high interest rates on consumer demand.
Tn the last quarter of 2007-08, industry and manufacturing growth rates both slipped to around 5
per cent against 8.6 per cent and 9.6 per cent respectively in the previous quarter, which
performance itself represented a decline from the high of 10 and 12 per cent in 2006-07.

Growth has been falling, therefore. all of 2007 -08 with the decline accelerating since January.
Fiscal 2007-08 closed with a real GDP growth of 9 per cent mainly due to a double digit growth
1 services such as real estate. transport. hotel services and construction. With high albeit falling
interest rates ad worse. a risk aversion among lenders impacting these sectors as much as they
had manufacruring earlier, the overall growth momentum may slow even more than officially
estimated. Against this backdrop, the best bet for policymakers and producers would be to tun
the downturn into an opportunity for fresh strategizing. Manufacturing firms have begun the task
of cutting costs in right earnest. The real estate sector is supposedly asking for relief and so will
the shipping ad transport sectors. the governmment has to exercise discretion the way it did with
the airline industry so as to encourage internal overhauling. The government will inevitably have
1o boost confidence and private investments at some furure date through counter-cyclical
spending. That future should start right away.

SubQuestion No : 86

Q.86 From which of the following factors does the slowdown in business become evident in
the passage?

a) Raw material and energy prices started rising last year.

b) In the Jan-March 2008 quarter both the industry and manufacturing growth rates
dropped to about 5%.

¢) In fiscal 2007-08 consumer demand started to lag due 1o the high interest rates.

d) All of the above.

Ans XA 1
X B.2
X cs
D4

Question ID : 4774417379
Status : Answered
Chosen Option : 4
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Comprehension:

Study the passage given below and answer the NEXT FIVE questions that follow:

If proof were needed that the organized sector of the Indian economy is globalised, look no
further than the knee-jerk reaction of Jet Airways. which issued marching orders to 800
employees and then retracted following an adverse reaction. has now morphed into a strategic
plan by companies to keep to keep their heads above the rising waters. This strategy 1s predicted
on the need to cut costs and protect profit margins as far as possible rather than look to
increasing revenue in what is rurning out to be a slowing marker. Auto majors such as Tata
Motors, Ashoka Leyland and Mahindra & Mahindra have began 1o cut back production and
reduce man-hours at their plants across India in a bid to prevent inventory pile-up and tailor
output to falling demand. It will not be long before auto component vendors follow suit,
followed by firms across the product spectrum. Organized mdusury 1s learning o cope with the
downside of a business cycle that first manifested itself last year in the wake of rising raw
material and energy prices and in the lagged effects of high interest rates on consumer demand.
Tn the last quarter of 2007-08, industry and manufacturing growth rates both slipped to around 5
per cent against 8.6 per cent and 9.6 per cent respectively in the previous quarter, which
performance itself represented a decline from the high of 10 and 12 per cent in 2006-07.

Growth has been falling, therefore. all of 2007 -08 with the decline accelerating since January.
Fiscal 2007-08 closed with a real GDP growth of 9 per cent mainly due to a double digit growth
1 services such as real estate. transport. hotel services and construction. With high albeit falling
interest rates ad worse. a risk aversion among lenders impacting these sectors as much as they
had manufacruring earlier, the overall growth momentum may slow even more than officially
estimated. Against this backdrop, the best bet for policymakers and producers would be to tun
the downturn into an opportunity for fresh strategizing. Manufacturing firms have begun the task
of cutting costs in right earnest. The real estate sector is supposedly asking for relief and so will
the shipping ad transport sectors. the governmment has to exercise discretion the way it did with
the airline industry so as to encourage internal overhauling. The government will inevitably have
1o boost confidence and private investments at some furure date through counter-cyclical
spending. That future should start right away.

SubQuestion No : 87

Q.87 Given that the government will inevitably have to play a proactive role in boosting
confidence and private investments in future:

a) The corrective measures should begin right away.

b) Auto companies such as Tata Motors. Ashoka Leyland and Mahindra & Mahindra
should cooperate with the government.

¢) The government should seek aid from World Bank.

d) Organized industry should be encouraged to increase revenue.

Ans o A1
X B.2
X cs3
X D.4

Question ID : 4774417380
Status : Answered
Chosen Option : 1
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Ans

Comprehension:

Study the passage given below and answer the NEXT FIVE questions that follow:

If proof were needed that the organized sector of the Indian economy is globalised, look no
further than the knee-jerk reaction of Jet Airways. which issued marching orders to 800
employees and then retracted following an adverse reaction. has now morphed into a strategic
plan by companies to keep to keep their heads above the rising waters. This strategy 1s predicted
on the need to cut costs and protect profit margins as far as possible rather than look to
increasing revenue in what is rurning out to be a slowing marker. Auto majors such as Tata
Motors, Ashoka Leyland and Mahindra & Mahindra have began 1o cut back production and
reduce man-hours at their plants across India in a bid to prevent inventory pile-up and tailor
output to falling demand. It will not be long before auto component vendors follow suit,
followed by firms across the product spectrum. Organized mdusury 1s learning to cope with the
downside of a business cycle that first manifested itself last year in the wake of rising raw
material and energy prices and in the lagged effects of high interest rates on consumer demand.
Tn the last quarter of 2007-08, industry and manufacturing growth rates both slipped to around 5
per cent against 8.6 per cent and 9.6 per cent respectively in the previous quarter, which
performance itself represented a decline from the high of 10 and 12 per cent in 2006-07.

Growth has been falling, therefore. all of 2007 -08 with the decline accelerating since January.
Fiscal 2007-08 closed with a real GDP growth of 9 per cent mainly due to a double digit growth
1 services such as real estate. transport. hotel services and construction. With high albeit falling
interest rates ad worse. a risk aversion among lenders impacting these sectors as much as they
had manufacruring earlier, the overall growth momenmum may slow even more than officially
estimated. Against this backdrop, the best bet for policymakers and producers would be to tun
the downturn into an opportunity for fresh strategizing. Manufacturing firms have begun the task
of cutting costs in right earnest. The real estate sector is supposedly asking for relief and so will
the shipping ad transport sectors. the government has to exercise discretion the way it did with
the airline industry so as to encourage internal overhauling. The government will inevitably have
1o boost confidence and private investments at some furure dare through counter-cyclical
spending. That future should start right away.

SubQuestion No : 88

Q.88 Which of the following captions would be the most apt for this passage?

a) Government’s role in boosting economy.

b) Globalization of Indian economy.

¢) Cost-cutting is the cure for economic ills.

d) Indian industry’s impact on the global economy.

X A1
VB2
X cs
X D.4

Question ID : 4774417382
Status : Answered
Chosen Option : 1
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Ans

Comprehension:

Study the passage given below and answer the NEXT FIVE questions that follow:

If proof were needed that the organized sector of the Indian economy is globalised, look no
further than the knee-jerk reaction of Jet Airways. which issued marching orders to 800
employees and then retracted following an adverse reaction. has now morphed into a strategic
plan by companies to keep to keep their heads above the rising waters. This strategy 1s predicted
on the need to cut costs and protect profit margins as far as possible rather than look to
increasing revenue in what is rurning out to be a slowing marker. Auto majors such as Tata
Motors, Ashoka Leyland and Mahindra & Mahindra have began 1o cut back production and
reduce man-hours at their plants across India in a bid to prevent inventory pile-up and tailor
output to falling demand. It will not be long before auto component vendors follow suit,
followed by firms across the product spectrum. Organized mdusury 1s learning o cope with the
downside of a business cycle that first manifested itself last year in the wake of rising raw
material and energy prices and in the lagged effects of high interest rates on consumer demand.
Tn the last quarter of 2007-08, industry and manufacturing growth rates both slipped to around 5
per cent against 8.6 per cent and 9.6 per cent respectively in the previous quarter, which
performance itself represented a decline from the high of 10 and 12 per cent in 2006-07.

Growth has been falling, therefore. all of 2007 -08 with the decline accelerating since January.
Fiscal 2007-08 closed with a real GDP growth of 9 per cent mainly due to a double digit growth
1 services such as real estate. transport. hotel services and construction. With high albeit falling
interest rates ad worse. a risk aversion among lenders impacting these sectors as much as they
had manufacruring earlier, the overall growth momentum may slow even more than officially
estimated. Against this backdrop, the best bet for policymakers and producers would be to tun
the downturn into an opportunity for fresh strategizing. Manufacturing firms have begun the task
of cutting costs in right earnest. The real estate sector is supposedly asking for relief and so will
the shipping ad transport sectors. the governmment has to exercise discretion the way it did with
the airline industry so as to encourage internal overhauling. The government will inevitably have
1o boost confidence and private investments at some furure date through counter-cyclical
spending. That future should start right away.

SubQuestion No : 89

Q.89 Which of the following points is implied in this passage?

a) There is proof that India’s organized sector may be affecting the global economy.

b) The economic slowdown is a result of knee-jerk reactions of companies such as
Jet Airways.

¢) Organized sector of the Indian economy 1s definitely globalised.

d) None of the above

X A1
X B.2
vcs
X D.4

Question ID : 4774417378
Status : Answered
Chosen Option : 2

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802097/125802097S16D638/16006687560871048/17146...

47158



9/23/2020 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802097/125802097S16D638/16006687560871...

Comprehension:
Study the passage given below and answer the NEXT FIVE questions that follow:

If proof were needed that the organized sector of the Indian economy is globalised, look no
further than the knee-jerk reaction of Jet Airways. which issued marching orders to 800
employees and then retracted following an adverse reaction. has now morphed into a strategic
plan by companies to keep to keep their heads above the rising waters. This strategy 1s predicted
on the need to cut costs and protect profit margins as far as possible rather than look to
increasing revenue in what is rurning out to be a slowing marker. Auto majors such as Tata
Motors, Ashoka Leyland and Mahindra & Mahindra have began 1o cut back production and
reduce man-hours at their plants across India in a bid to prevent inventory pile-up and tailor
output to falling demand. It will not be long before auto component vendors follow suit,
followed by firms across the product spectrum. Organized mdusury 1s learning o cope with the
downside of a business cycle that first manifested itself last year in the wake of rising raw
material and energy prices and in the lagged effects of high interest rates on consumer demand.
Tn the last quarter of 2007-08, industry and manufacturing growth rates both slipped to around 5
per cent against 8.6 per cent and 9.6 per cent respectively in the previous quarter, which
performance itself represented a decline from the high of 10 and 12 per cent in 2006-07.

Growth has been falling, therefore. all of 2007 -08 with the decline accelerating since January.
Fiscal 2007-08 closed with a real GDP growth of 9 per cent mainly due to a double digit growth
1 services such as real estate. transport. hotel services and construction. With high albeit falling
interest rates ad worse. a risk aversion among lenders impacting these sectors as much as they
had manufacruring earlier, the overall growth momentum may slow even more than officially
estimated. Against this backdrop, the best bet for policymakers and producers would be to tun
the downturn into an opportunity for fresh strategizing. Manufacturing firms have begun the task
of cutting costs in right earnest. The real estate sector is supposedly asking for relief and so will
the shipping ad transport sectors. the governmment has to exercise discretion the way it did with
the airline industry so as to encourage internal overhauling. The government will inevitably have
1o boost confidence and private investments at some furure date through counter-cyclical
spending. That future should start right away.

SubQuestion No : 90
Q.90 Which of the following is not implied in this passage?
a) The economic slowdown should be perceived as an opportunity for strategizing
by policy makers and producers.
b) Growth rates in industry and manufacturing had been falling throughout the year
2007-08.
c) Jet Airways had to clear strategy behind sacking of 800 of its employees.

d) Real estate and shipping, transport sectors are looking to the government for relief
measures.
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Comprehension:
Study the passage given below and answer the NEXT FIVE questions that follow:

‘Don’t disturb berween 2 pm — 4 pm’. I have seen such boards outside many houses in Pune. I
wondered why, until someone told me that people sleep ar that time and they don’t like 1o be
disturbed by unwanted visitors. A siesta in Sanskrit is a hixury nowadays. But there are people
who enjoy their 40 winks even at office. It’s euphemistically called a “power nap’. which
rejuvenates you. J F Kennedy loved this post lunch snooze so much so that there was a
presidential order. not to disturb him for an hour during the daytime. The first Mughal emperor.
Zahiruddin Babar. wrote in his autobiography. Tuzuk-e-Babri. that ‘India’s warm and humid
climate makes one feel drowsy after having hinch.”

When it comes to siesta, Bengalis and Italians are number one in the world. I. however, am of the
view that this is because of the food. Rice and pasta are sleep- inducing food items, Fish adds to
1t because 1t has phosphorous. which makes one feel sleepy. The practice of the siesta 1s also held
responsible for the Parsi community’s historic uprooting from Persia. According to legend. the
Arabs who invaded Persepolis in modern-day Iran during the Islamic incursions in the 10%
century soon realized thar the only way to conquer Zoroastrian watriors was fo attack after the
traditional Sunday lunch of Dhansaak. the thick mutton stew served with cardamom-scented
drowns rice is heavy enough to lull anyone into a long and peaceful siesta afterwards!

The word siesta is said to have originated from ancient Latin word ‘siennete’. which meant
‘sleeping under tree’. but not specified whether at night or during daytime. Even ‘Sexta” in
Spanish and Latin means the 6* hour, which is the time of rest. I have read that some corporate
offices have sleeping rooms for their staff to have a power nap after lunch. But. it mustn't exceed
30 minutes. Siestas are very addicrive. Just sleep one day for an hour after having lunch and next
day exactly at that time. you'll feel sleepy and start yawning. There are people who're so fond of
it that they can give a muss to all regular things m hfe of a few nunutes of stolen slumber. as
Allan Wanbridge aptly called it. After all. stolen moments. such as stolen kisses. are always the
sweetest. aren’t they?

SubQuestion No : 91

29" What does the word ‘siesta’ mean?
a) Sleeping late till late moring.
b) Sleeping in the early afternoon.
¢) Sleeping in the late evenings.
d) Sleeping late in the night.
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Ans

Comprehension:
Study the passage given below and answer the NEXT FIVE questions that follow:

‘Don’t disturb berween 2 pm — 4 pm'. I have seen such boards outside many houses in Pune. I
wondered why, until someone told me that people sleep ar that time and they don’t like 1o be
disturbed by unwanted visitors. A siesta in Sanskrit is a hixury nowadays. But there are people
who enjoy their 40 winks even at office. It’s euphemistically called a ‘power nap’. which
rejuvenates you. J F Kennedy loved this post lunch snooze so much so that there was a
presidential order. not to disturb him for an hour during the daytime. The first Mughal emperor.
Zahiruddin Babar. wrote in his autobiography. Tuzuk-e-Babri, that ‘India’s warm and humid
climate makes one feel drowsy after having hinch.”

When it comes to siesta, Bengalis and Italians are number one in the world. I. however, am of the
view that this is because of the food. Rice and pasta are sleep- inducing food items, Fish adds to
1t because 1t has phosphorous. which makes one feel sleepy. The practice of the siesta 1s also held
responsible for the Parsi community’s lastoric uprooting from Persia. According to legend. the
Arabs who invaded Persepolis in modern-day Iran during the Islamic incursions in the 10%
century soon realized thar the only way to conquer Zoroastrian warriors was fo attack after the
traditional Sunday lunch of Dhansaak. the thick mutton stew served with cardamom-scented
drowns rice is heavy enough to lull anyone into a long and peaceful siesta afterwards!

The word siesta is said to have originated from ancient Latin word ‘siennete’. which meant
‘sleeping under tree’. but not specified whether at night or during daytime. Even ‘Sexta” in
Spanish and Latin means the 6* hour, which is the time of rest. I have read that some corporate
offices have sleeping rooms for their staff to have a power nap after lunch. But. it mustn't exceed
30 minutes. Siestas are very addicrive. Just sleep one day for an hour after having lunch and next
day exactly at that time. you'll feel sleepy and start yawning. There are people who're so fond of
it that they can give a muss to all regular things m hfe of a few nunutes of stolen slumber. as
Allan Wanbridge aptly called it. After all. stolen moments. such as stolen kisses. are always the
sweetest. aren’t they?

SubQuestion No : 92

Q.92 What cause the Parsi community’s historic uprooting from Persia?

a) Their practice of the siesta every afternoon.

b) Their having an afternoon siesta after eating sleep inducing mutton strews and
brown rice on Sunday.

c) Their inability to fight with their invaders because of their heavy and clumsy
body.

d) Their giving preference to delicious food and sleeping till late in the morning.
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Ans

Comprehension:
Study the passage given below and answer the NEXT FIVE questions that follow:

‘Don’t disturb berween 2 pm — 4 pm'. I have seen such boards outside many houses in Pune. I
wondered why. until someone told me that people sleep ar that time and they don’t like to be
disturbed by unwanted visitors. A siesta in Sanskrit is a hixury nowadays. But there are people
who enjoy their 40 winks even at office. It’s euphemistically called a ‘power nap’. which
rejuvenates you. J F Kennedy loved this post lunch snooze so much so that there was a
presidential order. not to disturb him for an hour during the daytime. The first Mughal emperor.
Zahiruddin Babar. wrote in his autobiography. Tuzuk-e-Babri, that ‘India’s warm and humid
climate makes one feel drowsy after having hinch.”

When it comes to siesta, Bengalis and Italians are number one in the world, I. however, am of the
view that this is because of the food. Rice and pasta are sleep- inducing food items, Fish adds to
1t because 1t has phosphorous. which makes one feel sleepy. The practice of the siesta 1s also held
responsible for the Parsi community’s lastoric uprooting from Persia. According to legend. the
Arabs who invaded Persepolis in modern-day Iran during the Islamic incursions in the 10%
century soon realized thar the only way to conquer Zoroastrian warriors was fo attack after the
traditional Sunday lunch of Dhansaak. the thick mutton stew served with cardamom-scented
drowns rice is heavy enough to lull anyone into a long and peaceful siesta afterwards!

The word siesta is said to have originated from ancient Latin word ‘siennete’. which meant
‘sleeping under tree’. but not specified whether at night or during daytime. Even ‘Sexta” in
Spanish and Latin means the 6* hour, which is the time of rest. I have read that some corporate
offices have sleeping rooms for their staff to have a power nap after lunch. But. it mustn't exceed
30 minutes. Siestas are very addicrive. Just sleep one day for an hour after having lunch and next
day exactly at that time. you'll feel sleepy and start yawning. There are people who're so fond of
it that they can give a muss to all regular things m hfe of a few nunutes of stolen slumber. as
Allan Wanbridge aptly called it. After all. stolen moments. such as stolen kisses. are always the
sweetest. aren’t they?

SubQuestion No : 93

Q93 What, out of the following, is cited as a reason for inducing sleep?

a) The climate as it is in Bengal and Italy.

b) Fatty junk food like pasta and pizzas

¢) Warm and humid climate and rice. pasta and fish.

d) Humid climate and the food that contains sedative substances.
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Ans

Comprehension:
Study the passage given below and answer the NEXT FIVE questions that follow:

‘Don’t disturb berween 2 pm — 4 pm’. I have seen such boards outside many houses in Pune. I
wondered why, until someone told me that people sleep ar that time and they don’t like 1o be
disturbed by unwanted visitors. A siesta in Sanskrit is a hixury nowadays. But there are people
who enjoy their 40 winks even at office. It’s euphemistically called a “power nap’. which
rejuvenates you. J F Kennedy loved this post lunch snooze so much so that there was a
presidential order. not to disturb him for an hour during the daytime. The first Mughal emperor.
Zahiruddin Babar. wrote in his autobiography. Tuzuk-e-Babri. that ‘India’s warm and humid
climate makes one feel drowsy after having hinch.”

When it comes to siesta, Bengalis and Italians are number one in the world. I. however, am of the
view that this is because of the food. Rice and pasta are sleep- inducing food items, Fish adds to
1t because 1t has phosphorous. which makes one feel sleepy. The practice of the siesta 1s also held
responsible for the Parsi community’s historic uprooting from Persia. According to legend. the
Arabs who invaded Persepolis in modern-day Iran during the Islamic incursions in the 10%
century soon realized thar the only way to conquer Zoroastrian watriors was fo attack after the
traditional Sunday lunch of Dhansaak. the thick mutton stew served with cardamom-scented
drowns rice is heavy enough to lull anyone into a long and peaceful siesta afterwards!

The word siesta is said to have originated from ancient Latin word ‘siennete’. which meant
‘sleeping under tree’. but not specified whether at night or during daytime. Even ‘Sexta” in
Spanish and Latin means the 6* hour, which is the time of rest. I have read that some corporate
offices have sleeping rooms for their staff to have a power nap after lunch. But. it mustn't exceed
30 minutes. Siestas are very addicrive. Just sleep one day for an hour after having lunch and next
day exactly at that time. you'll feel sleepy and start yawning. There are people who're so fond of
it that they can give a muss to all regular things m hfe of a few nunutes of stolen slumber. as
Allan Wanbridge aptly called it. After all. stolen moments. such as stolen kisses. are always the
sweetest. aren’t they?

SubQuestion No : 94

Q.94 Why is ‘enjoying 40 winks at office’ is called ‘power nap’'?

a) Because it re-energizes the one who naps.

b) Because it reduces the working hour in the office.

c) Because the officials pretend that it gives them power.

d) Because all those in power in the office can enjoy a nap inside the office.
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Ans

Comprehension:
Study the passage given below and answer the NEXT FIVE questions that follow:

‘Don’t disturb berween 2 pm — 4 pm'. I have seen such boards outside many houses in Pune. I
wondered why, until someone told me that people sleep ar that time and they don’t like 1o be
disturbed by unwanted visitors. A siesta in Sanskrit is a hixury nowadays. But there are people
who enjoy their 40 winks even at office. It’s euphemistically called a ‘power nap’. which
rejuvenates you. J F Kennedy loved this post lunch snooze so much so that there was a
presidential order. not to disturb him for an hour during the daytime. The first Mughal emperor.
Zahiruddin Babar. wrote in his autobiography. Tuzuk-e-Babri, that ‘India’s warm and humid
climate makes one feel drowsy after having hinch.”

When it comes to siesta, Bengalis and Italians are number one in the world. I. however, am of the
view that this is because of the food. Rice and pasta are sleep- inducing food items, Fish adds to
1t because 1t has phosphorous. which makes one feel sleepy. The practice of the siesta 1s also held
responsible for the Parsi community’s lastoric uprooting from Persia. According to legend. the
Arabs who invaded Persepolis in modern-day Iran during the Islamic incursions in the 10%
century soon realized thar the only way to conquer Zoroastrian warriors was fo attack after the
traditional Sunday lunch of Dhansaak. the thick mutton stew served with cardamom-scented
drowns rice is heavy enough to lull anyone into a long and peaceful siesta afterwards!

The word siesta is said to have originated from ancient Latin word ‘siennete’. which meant
‘sleeping under tree’. but not specified whether at night or during daytime. Even ‘Sexta” in
Spanish and Latin means the 6* hour, which is the time of rest. I have read that some corporate
offices have sleeping rooms for their staff to have a power nap after lunch. But. it mustn't exceed
30 minutes. Siestas are very addicrive. Just sleep one day for an hour after having lunch and next
day exactly at that time. you'll feel sleepy and start yawning. There are people who're so fond of
it that they can give a muss to all regular things m hfe of a few nunutes of stolen slumber. as
Allan Wanbridge aptly called it. After all. stolen moments. such as stolen kisses. are always the
sweetest. aren’t they?

SubQuestion No : 95

Q.95 What is an example of addiction to siestas?

a) One cannot resist it under any circumstances and will go to sleep hypnotized.

b) One will tend to sleep again and again during the day.

¢) Omne will lose their normal sleep during the nights because of sleeping during the
day.

d) One will feel sleepy and start yawning at the same time every day and will tend 1o
give a miss to all regular things for it.
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Ans

Comprehension:
Study the passage given below and answer the NEXT FIVE questions that follow:

On August 15. 1947, India was granted independence from British colonial dominance. This was
an event of international significance. From this day onwards, the Indian Union assumed a role
in world pelitics that was appropriate enough to modify the thinking of nations. Concepts like
non-alignment. tolerance. non-violence and peaceful coexistence were introduced by India into
mternational vocabulary. “Our dreams concemn India™ said the first Prime Minister of the country
on the eve of achieving freedom. “but they also concern the whole world, for the world has
become one”. Mahatma Gandhi chose Nehru to become the first Prime Minister of Independent
India. With his vision of unity of the nation. he became the archirect of modern India. It was to
be a federal stare based on secularism- the commitment to an Indian identity, which was above
all races, castes and religions. It was a vision of extraordinary dimensions.

Nehru as well as his daughter and successor. Smt. Indira Gandhi. were well aware that only a
firm anchorage in the Indian identity could unite the nation and enable it to make an impact on
the world. In these days of mutual independence, the western powers and America cannot afford
to ignore what is happening in this region. It is possible that the fate of the Asian democracies
would one day he decided on the banks of Ganges. If India fails to remain a democracy. this
would trigger the fall of the whole of South and South-East Asia. That 1s why the Indian Prime
Minister has to play a role that goes well beyond duties relared to internal affairs only. It is of
international political significance.

SubQuestion No : 96

Q.96 Which of the following mean same as the word ‘trigger” as used in the passage?

a) Prevent
b) Fail

c) Hit

d) Bring about
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Ans

Comprehension:
Study the passage given below and answer the NEXT FIVE questions that follow:

On August 15. 1947. India was granted independence from British colonial dominance. This was
an event of international significance. From this day onwards, the Indian Union assumed a role
in world pelitics that was appropriate enough to modify the thinking of nations. Concepts like
non-alignment. tolerance. non-violence and peaceful coexistence were introduced by India into
mternational vocabulary. “Our dreams concemn India™ said the first Prime Minister of the country
on the eve of achieving freedom. “but they also concern the whole world, for the world has
become one”. Mahatma Gandhi chose Nehru to become the first Prime Minister of Independent
India. With his vision of unity of the nation. he became the archirect of modern India. It was to
be a federal stare based on secularism- the commitment to an Indian identity, which was above
all races, castes and religions. It was a vision of extraordinary dimensions.

Nehru as well as his daughter and successor. Smt. Indira Gandhi. were well aware that only a
firm anchorage in the Indian identity could unite the nation and enable it to make an impact on
the world. In these days of mutual independence, the western powers and America cannot afford
to ignore what is happening in this region. It is possible that the fate of the Asian democracies
would one day he decided on the banks of Ganges. If India fails to remain a democracy. this
would trigger the fall of the whole of South and South-East Asia. That 1s why the Indian Prime
Minister has to play a role that goes well beyond duties relared to internal affairs only. It is of
international political significance.

SubQuestion No : 97

Q.97 What does the writer mean by ‘in these days of mutual independence’?

a) Everyone in society is dependent on one another in one way or the other.

b) Each of the states of the country cannot do withour the cooperation of the other
states.

c) The countries of Asia. America and the West cannot exist withour cooperating

with one another.

d) The western powers and America cannot afford 1o ignore what is happening in
Asia.
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Ans

Comprehension:
Study the passage given below and answer the NEXT FIVE questions that follow:

On August 15. 1947, India was granted independence from British colonial dominance. This was
an event of international significance. From this day onwards, the Indian Union assumed a role
in world pelitics that was appropriate enough to modify the thinking of nations. Concepts like
non-alignment. tolerance. non-violence and peaceful coexistence were introduced by India into
mternational vocabulary. “Our dreams concemn India™ said the first Prime Minister of the country
on the eve of achieving freedom. “but they also concern the whole world, for the world has
become one”. Mahatma Gandhi chose Nehru to become the first Prime Minister of Independent
India. With his vision of unity of the nation. he became the archirect of modern India. It was to
be a federal stare based on secularism- the commitment to an Indian identity, which was above
all races, castes and religions. It was a vision of extraordinary dimensions.

Nehru as well as his daughter and successor. Smt. Indira Gandhi. were well aware that only a
firm anchorage in the Indian identity could unite the nation and enable it to make an impact on
the world. In these days of mutual independence, the western powers and America cannot afford
to ignore what is happening in this region. It is possible that the fate of the Asian democracies
would one day he decided on the banks of Ganges. If India fails to remain a democracy. this
would trigger the fall of the whole of South and South-East Asia. That 1s why the Indian Prime
Minister has to play a role that goes well beyond duties relared to internal affairs only. It is of
international political significance.

SubQuestion No : 98

Q.98 Whart does ‘it was 1o be a federal state based on secularism’ mean?

a) India was to be comumitted to the Indian identity.

b) India was to maintain its identity as a country of diverse groups with some
autonomy fo them and rolerance rowards them.

c) Indian decided not to encourage races. castes and religions to grow.

d) India started the process of elimination of the bad practices of caste. race and
communalism in the name of religion.
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Q.99

Ans

Comprehension:
Study the passage given below and answer the NEXT FIVE questions that follow:

On August 15. 1947, India was granted independence from British colonial dominance. This was
an event of international significance. From this day onwards, the Indian Union assumed a role
in world pelitics that was appropriate enough to modify the thinking of nations. Concepts like
non-alignment. tolerance. non-violence and peaceful coexistence were introduced by India into
mternational vocabulary. “Our dreams concemn India™ said the first Prime Minister of the country
on the eve of achieving freedom. “but they also concern the whole world, for the world has
become one”. Mahatma Gandhi chose Nehru to become the first Prime Minister of Independent
India. With his vision of unity of the nation. he became the archirect of modern India. It was to
be a federal stare based on secularism- the commitment to an Indian identity, which was above
all races, castes and religions. It was a vision of extraordinary dimensions.

Nehru as well as his daughter and successor. Smt. Indira Gandhi. were well aware that only a
firm anchorage in the Indian identity could unite the nation and enable it to make an impact on
the world. In these days of mutual independence, the western powers and America cannot afford
to ignore what is happening in this region. It is possible that the fate of the Asian democracies
would one day he decided on the banks of Ganges. If India fails to remain a democracy. this
would trigger the fall of the whole of South and South-East Asia. That 1s why the Indian Prime
Minister has to play a role that goes well beyond duties relared to internal affairs only. It is of
international political significance.

SubQuestion No : 99

What does * the fate of Asian democracies would one day be decided on the banks of the
Ganges’ mean in the context as it is used here?

a) If the Indian democracy grows, it will help other democracies in the region grow:;
if it fails, the countries of this region will fail.

b) The rulers of India sitting on the banks of the Ganges would control the Asian
democracies.

c) India would come in a position to control the countries of the West and America
because of its control over the democracies of Asia.

d) The sear of governance would shift from Delhi (which is on the banks of
Yamuna) to Varanasi (which is on the banks if the Ganges).
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Ans

Comprehension:
Study the passage given below and answer the NEXT FIVE questions that follow:

On August 15. 1947, India was granted independence from British colonial dominance. This was
an event of international significance. From this day onwards, the Indian Union assumed a role
in world pelitics that was appropriate enough to modify the thinking of nations. Concepts like
non-alignment. tolerance. non-violence and peaceful coexistence were introduced by India into
mternational vocabulary. “Our dreams concemn India™ said the first Prime Minister of the country
on the eve of achieving freedom. “but they also concern the whole world, for the world has
become one”. Mahatma Gandhi chose Nehru to become the first Prime Minister of Independent
India. With his vision of unity of the nation. he became the archirect of modern India. It was to
be a federal stare based on secularism- the commitment to an Indian identity, which was above
all races, castes and religions. It was a vision of extraordinary dimensions.

Nehru as well as his daughter and successor. Smt. Indira Gandhi. were well aware that only a
firm anchorage in the Indian identity could unite the nation and enable it to make an impact on
the world. In these days of mutual independence, the western powers and America cannot afford
to ignore what is happening in this region. It is possible that the fate of the Asian democracies
would one day he decided on the banks of Ganges. If India fails to remain a democracy. this
would trigger the fall of the whole of South and South-East Asia. That 1s why the Indian Prime
Minister has to play a role that goes well beyond duties relared to internal affairs only. It is of
international political significance.

SubQuestion No : 100

Q.100 How did the Indian Union modify thinking of nations?

a) It made the nations to accept it as an independent country.

b) It gave confidence to the countries which were still under colonial dominance to
zain freedom by fighting.

c) It gave the world concepts like non-alignment. tolerance. non-violence and
peaceful co-existence.

d) It gained freedom from the British colonial dominance and started providing
leadership to the downtrodden nations of the world.

X A
X B.2
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